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Bachelor of Science (Honours) Agriculture/B.Sc. (Ag.) and MBA (ABM) Part-I
Examination of the Four/Five-Year Degree Course, 2019-2020

SEMESTER-I
ELEMENTARY MATHEMATICS
(MATHS-111)

Time : 2 Hours

Section-1:20

Maximum Marks : 100 {Scction—II:SO

Attempt all questions.
Answer of Question No. 1 and 2 be written in the space provided alongwith the questions
in Question-booklet. Answers of Question Nos. 3, 4, 5, 6 and 7 be written in
the Answer-book provided for writing answers.
In case of any discrepancy in English and Hindi versions of the paper,

only the English version be taken as correct.
awft v A afEd £
A e 1 Td 2 # IW yA-Jiaw ¥ @ A ™ wE | faa #
W @A 3, 4,5, 6 @ 7 P WM G W IM-Yaw F fod
Ifx fedt wea ® ot 7 e 9w A R weR # sl w1 A
ISt ® WA H @ T TEEL WA & IW 2

SECTION -1
Qg - |
Time : 20 Minutes] [Maximum Marks : 20

The Objective part (Q. Nos. 1 and 2) is to be covered in the Question paper itself and would be
collected by the invigilator after 20 minutes of the commencement of the examination.
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- & Choosethecorrectanswerandwritemenumbetofoomctamwerlor20r3or4inthesquare
given against each sub-question. (10x1=10)
WE IW T qW SR TE& 1 A 2 ;3 T 4 TIF IV-T F TR RF ™ o F fafa

@ If (AR) fx)=2x, gx)=x*+x, then (M) (f+g)(2x)=

(1)  4x*+6x
2 x*+x
3 x*+3x
@) 4x? +3x.

(i) ~ Slope of the straight line 2x—y=1 (W& @ 2x-y=1F T BM)

M -2 R |
2 12 X .S

Q) 2

4) -=2.

@) - el

x=a X—a

M nat
@) na™!
3) an’!
“4) a" i

(v) If (AR) f)=x"-1, gx)=2x+2, then (A) (f-g)2)=
(1 13
@ -1
@3 1
4) -13.

52/000/(2,350)/C-457 4
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(v) j dx = D

(1) x+c¢
2 l+c
). ¢

4 2x

(vi) If order of matrix A is 2 x 3 and order of matrix B is 3 x 4, order of matrix A x B
will be ' |

(1) 2x4

2 4x2
3) 8

(1)~ 2% 3

I T A FT HIA 2x 38 T T B T FA 3x42 A AT AxB FFW B
(1) 2x4

(2 4x2

(3) 8

) 2x3.

1 -3 :
(vii) [ :l - D
(1) -5

2y S

) .1
4 -l.

52/000/(2,350)/C-457 5 [P.T.O.
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(viii) -?dx—3(ex) =

(1) e*+c
2) e +c
(3) e

@) .

(ix) If A is a square matrix of order m x n, then (3R A,mxuﬁﬁﬁ HT AR z ﬁ)D

(1) m=n
(2) m>n
(3) m<n

@) m2n.

(x) I sec x tan x dx = :]

(1) tanx + ¢

(2) -tanx +c¢
(3) —-secx+c

4) secx + c.

2. Fill in the blanks : (10x1=10)
figa o #t o e

(i) If the origin is shifted to point (2, 1), the coordinates of the point (4, 5) in the new
coordinate Will e ......cccccviiiciniiinnnnennnnissescnsiniiscsnsissanans

uﬁ!{aﬁ@ﬁfﬂa(z,l)m@mﬁmmﬁmﬁiﬁwﬁﬁﬁgm,swﬁ
TIRRIE ....ocoiiosscpiimssamonssosiimnisss AR aul
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(i) Radius of the circle (X=1)" +(3+3)2 =9 S woooeooooooeeeeeeeeeeeeeeoeoeeeoeeoeoeoe .
i T =D ++3)7=9 B B oo ?
' U R R e T
x-1

3 -2 1 2 10 2
(iv) 2 2 =3(+(-3 -6 8| =
0 6 1 14 10 -1

.....................................................

-2 10 15]"
(v) 4 i 2 poie N SO R B S ) A
30 -18 15
3 -2 1
vij IfA=|2 2 =3, then cofactor T [ R e Mo R e S ¢
0 6 1
3 =2 3
R0 TS AL I O 8 il
0 6 1
(vii) Identity matrix of order 3 X 3 iS GIVEN 8S w.ovoveeveoereeeerreeseeeeees e, :
3x3FE FT THE THE AR oo :
52/000/(2,350y/C-457 7 [P.T.O.
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(ix)

2
I (x-1dx=
¥
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Bachelor of Science (Honours) Agriculture/B.Sc. (Ag.) and MBA (ABM) Part-I
Examination of the Four/Five-Year Degree Course, 2019-2020

SEMESTER-I
ELEMENTARY MATHEMATICS
(MATHS-111)

SECTION - II
@ o - I

Time : 1 Hour 40 Minutes] [Maximum Marks : 80

The Subjective part (Q. Nos. 3, 4, 5, 6 and 7) is to be covered in the Answer-book provided for
writing answers. The Answer-book would be collected by the invigilator when the candidate
finishes as per rules.

The question paper containing the Subjective part can be taken by the candidates alongwith them.

ﬁwmqm(ma‘ms,ms,ﬁqﬁn%wﬂmﬁw—gmﬁfmﬁilw—m
wﬂ&mﬁmm—ﬁrwm%muﬁwmmﬁaﬁmn

ﬁwmmm-wnﬁmmmémmﬁ

3. Answers the following quéstions - (5x2=10)
Tt v B IW R

() Find the derivative of (& ) ).

Gi) If () x=sin® and (T&M) y =cos @, then find (@ @ F) %.
(i) Obtain (W1 ) j >3 4x.
52/000/(2,350)/C-457 9 [P.T.0.
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sinax
. . lim y
() Find (0 ) =0 sinbx

7 =2

-2 1 -1 > "

(v) Find (¥@ #) 6% -1 :
-5 2
4. Answers the following questions : (2x5=10)

T+t v ® I G

(i) Find coordinates of the points that divide the line segment joining (1, 2), (3, —6) in three

equal parts.
fagail (1,2) @0 (3, -6) F foet e @ B A9 TR 9T A v w9 T
fagsi = fdwie @ Fifa

(i) Evaluate (F@ F%) [ x’logxdr.

5. Answers the following questions : (2x6=12)
= vl & S R .

() Find the derivative of y=e" with respect to x using First Principle of differentiation.

y=e* 1 FaHA, JaHeH ® W9 HEA w1 W@ FX T FL

|2x-3] x=1
(i)) Test the continuity of the function fix) = at x = 1.
2xr3 . x#l
|2x—3| x=1
x=1WR B&H f(x) = F Wia F W9 FRQ
2x-3 x#l1
52/000/(2,350)/C-457 10
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6. Explain any two of the following three questions in 1-1%2 pages. (2x9=18)
frafafas @7 wwi § @ R @ B IW 1-1% T F TR

®

(ii)

(iii)

-1 23
If (a) A=| 1 2 0, then find (A T FW) A~
9y
Find the equations of the tangent lines of a circle centered at (1, 2) with radius ﬁ which
passes through the point (-1, -2).

fag (1,2) W %=z, e 23 fag (-1,-2) ¥ A 9@ g9 w9 el @
e 9 FIea

Find the maximum and minimum values of the function. f(x)=5x"+2x" -3x.

TER f(x)=5x +2x% -3x W Afvmam 7 A wA e

7. Explain/describe in detail any two out of the following three questions in 2-3 pages. (2x15=30)
frfafas 4 v 8 @ R @ ® IW 23 TN F gEed

(0}

(i)

(iii)

= 1
Find (FW@ 1) % when (SEfF) y=x2 log cosl—ti--

Find the area bounded by the curves y=x”+5x and y=3-x.

T y=x*+5x @y y=3-x ® TN YREE &% F &AFA F@ B

y- 3.9

If(a®) A=|9 2 0, then prove that (A oz #fR) —A’+6A%+8A-411=0
S

and hence find (@ ®) AL

52/000/(2,350)/C-457 11 [P.TO.
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